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Diilgrantial Equations

. [13%) Consider the eguation
dz
ﬁ +sinx =1

Skeloh e poteatial aimd plase planes, and dizouss the stability

mogensous Hovodacy walue prollbom
¥ +y=cosdreosdn; =0 pr) =0

(14%} Find 211 the real cigewralees eod sigmiungtionz for the sigenyalue prolbiaon
Wrdr+ag =t g{li=0 =0

(14 Coapaate the Foucber sine sevies foy
fiz] =%, 0=zl

1 2 2
[14%) Slve E] = Aw(z), wlere b = [2 1 E] .
e &0

. [145%2) Usze the meihod of Leplace teansform to solve the mllial valie problem
VT Hy=ult-2)  2(M=0, y¥)=1,
where w(£] 65 the unit step fuochion.

L LT} Sl
[y o Zeghde + = dy = [

(153} Find = fermal efgenfunction capamsion, i axiks, B the sahition to the nonlo-
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